4GRS P

Z A TR T

w44

(5x° = 3x+5)(6x— 4) — 3 x 6x— 2

(5x— 5)(5x% +4x+ 1) — (x — D)(x + 5)

(4x° +3x—4)(2x— 4) +3 x dx— 6

2x— (5 — 6x)(4x— 5)(5x + 5)

6x — (1 — 6x)(6x + 6)(5x + 3)

H &H: R

Gx+2)(2x% —x—2)+ (x +2)2x + 1)

(5x2—3)(x—3)+5x2 +x+5

S5x—=(5+3x)3x— 1)(x—5)

4x+ 3 +x)(5x— 2)(x+ 4)

(x— 1)(6x° + 6x + 4) — (6x + 4)(x — 2)
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(5x2 = 3x+5)(6x— 4)— 3 x 6x— 2
30x° — 38x% + 24x — 22

(5x— 5)(5x% +4x+ 1) — (x — 1)(x + 5)
25x° — 6% — 19x

(42 + 3x—4)(2x— 4)+3 x dx— 6
8> — 10x* — 8x+ 10

2x— (5 — 6x)(4x— 5)(5x + 5)
1200° — 130x” — 123x + 125

6x — (1 — 6x)(6x + 6)(5x + 3)
180x° + 258x” + 66x — 18

H &H: STEL:

(Bx+ 2)(2% —x—2)+ (x +2)2x + 1)
6x° + 3x2 —3x—2

(5% = 3)(x—3)+ 5% +x+5
5¢ — 10x> —2x + 14

S5x—=(5+3x)3x— 1)(x—5)
—9x° + 33x% + 70x — 25

dx+ 3+ x)(5x— 2)(x+4)
50 + 33x% + 50x — 24

(x— 1)(6x% + 6x+ 4)— (6x + 4)(x — 2)
6x° — 6x% + 6x+ 4
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